





EDU-VET

E-Learning, Digitisation and Units for Learning at VET schools –
Creating online Learning Environments in Technical Education for
European metal industry

Short evaluation - Feedback EDU-VET-Meeting 4: EDU-VET Implementation, Handbook and Showcase Meeting Meeting Minutes

31st of August to 2rd of September 2021

Project Title: E-Learning, Digitisation and Units for Learning at

VET schools - Creating online Learning

Environments in Technical Education for European metal industry

Acronym: EDU-VET

Reference number: 2019-1-DE02-KA202-006068







The meeting evaluation of the 4th EDU-VET project meeting shall give an overview of the feedback about the online partner meeting, hosted by Graafshap College (SBEOG), NL via Zoom (online).

This questionnaire will be handed out as an online survey during the meeting and will be answered by one person per institution to evaluate the meetings content, the meetings design, the coordination and the results of the meeting.

The 4th project meeting, although held online via Zoom, went well and none of the partners has anything of urgent matter to declare at this stage of the project. The project team suggest to conduct several short Meet Ups or online meeting in working groups between the transnational meetings. Because of this, the project team decided to have the next Meet Up in working groups in September/October 2021 online via Zoom.

Moreover, all participants want to do more dissemination activities, e.g. posts on social media channels and website, online articles, internal communication platform (portal), posters and flyers. Additionally, the project participants thank for the good cooperation so far and are looking forward to further project work.

Nevertheless, the answers show that the Corona pandemic poses challenges in project work. All project meetings, contacts with companies, trainers, etc. are handled online, which makes communication very difficult. Anyway, we are on track with all project activities.

Even so, each partner has a clear picture of the meeting objectives and considered the meeting as helpful.

Please find below the summarised evaluation data:	

Question 1:

	Totally disagree	Partly disagree	Partly agree	Totally Agree	I don't know	Σ
The conference lived up to my expectations.				5 (100,00%)		n=5
The conference objectives were clear to me.				4 (80,00%)	1 (20,00%)	n=5
The difficulty level of this conference was appropriate.			1 (20,00%)	4 (80,00%)		n=5
The conference contents were presented in an engaging way.			1 (20,00%)	4 (80,00%)		n=5
The conference was interesting.			1 (20,00%)	4 (80,00%)		n=5
The coordination was well prepared.				5 (100,00%)		n=5
The coordination was helpful.				5 (100,00%)		n=5
Overall, I am happy with the conference results.			1 (20,00%)	4 (80,00%)		n=5







I have a clear picture now of the projects' next steps.		1 (20,00%)	4 (80,00%)	n=5
I know what my tasks for the upcoming period are.		1 (20,00%)	4 (80,00%)	n=5

Question 2:

Do you have any concerns regarding the development process in EDU-VET so far?

X Yes, please be specific (n=4):

- Limited time resources
- the corona crisis is very challenging for the school, leaving less time for the project
- -Moodle
- As the responsible partner for the Handbook, I thought it was important to bring forward the handbook current status. It is clear some partners are struggling with the writing of their chapters. As the handbook is a common product with equal contributions from each partner, I do have concerns about the process.

x No (n=1)

Do you have any concerns with the quality of the management or collaboration of the project so far?

- x Yes, please be specific (n=1):
- All partners have good intentions (but some are really struggling)
- x No (n=4)

Question 3:

What would you like to suggest for the future cooperation / communication in the EDU-VET project? (n=2)

- Organise a physical meeting as soon as possible. It could give the project the boost it needs at this point.
- -Face-to-Face Meeting

Question 4:

Please describe any Dissemination & Exploitation activities or measures you undertook so far related to the EDU-VET project.

(n=3)







- Posted on social media as well as on our school's internal social platform.	
- Flyer, poster	
- Newsletters, website	

Question 5:

What else would you like to pass on? Are there any other issues for discussion? (n=0)	
-	_